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QUESTION 1

You have a NetApp ONTAP cluster consisting of four NetApp FAS8200 controllers with two NetApp CN1610 cluster
switches running ONIAP 9.8 software. You are receiving several alert messages stating that the cluster network has
degraded. After troubleshooting, you determine that the errors are being generated fromNode 2, interface eOb.

In this scenario, what should you do first to solve this problem?

A. Replace the Twinax cable between Node 2, Interface eOb. and the NetApp CN1610 switch.

B. Replace the motherboard on Node 2.

C. Replace both NetApp CN1610 switches.

D. Replace the NetApp CN1610 switch that connects to Node 2, interface e0b.

Correct Answer: B

QUESTION 2

A customer reports that some of their client computers are unable to access a FlexGroup over CIFS. This problem
involves only their older Windows XP clients and some printers and scanners.

In this scenario, which statement Is correct?

A. FlexGroup requires CIFS shares to be located in gtrees, which these clients do not support.

B. FlexGroup requires CIFS shares to use the Continuously Available Feature, which these clients do not support.
C. These systems use the SMQI protocol which Is an unsupported feature in FlexGroup

D. These systems use Offloaded Data Transfer, which is an unsupported feature in FlexGroup.

Correct Answer: B

QUESTION 3

A storage administrator reports that a monitoring toot is reporting that the storage controller reads between 90% to 93%
CPU use. You run the sysstat -m command against thenode in question.
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Referring to the exhibit, which statement is correct?

A. The customer should be advised to exclude certain workflows to reduce use.

B. High network exempt use could be a problem.

C. You should immediately investigate further bygathering perfstat data and opening a support case.

D. The CPU Is not a first-order monitoring metric for ONTAP.

Correct Answer: C

QUESTION 4

Your customer added a new DS4246 shelf to their FAS2750 single-node system and created a new aggregate on the
new shelf. Two weeks later, they log into Active 1Q and discover the Medium Impact error shown below. Shelves with
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both connections via the same SAS path detected

SAS-EXPANDER-MAE
Expanders on channel Ca:

l=gel 1: WWh S00a038005f0=d3f, ID 0, f8erial Mumb=r ' SHIJHD15ZTO000148', Product
'DE424I0MBE 'y Baw '0172', Blot A
Lev=l 2: WWN 500a098005b053kE, ID 1, Sarial Number " SHPFHED1516001218', Product
'DEIZE4TOME ', Rmy "015%1", Slet &
Level 3: WwWN S00a09800772e3bE, ID 2, Heripl Number ' SHIHD1&652000119°, Froduect
"hDR222T0OME 'y Bee "0151°, 3lot A
Lewval 4: wwm S5N00a093005af77bE, ID 1, Berial Mumber ' SAFAD1S16001213°, Froduct
"HAZZETOME 'y Rew '0191%, 8lot B
Tawael 5% wem 500a03300773k8bE, ID 2, Barial Number ' SHJIHD1&65300011%', Produst
"DR42410ME ', Ree "O181', ‘8lot B

Expanders on channel Ob:

Lewvel 1: WWN 500a05800773bBLE, ID 2, Seriml Numbar ' SHJHD1E53000115', Product
'DE424TOME ', Raw "0191", 8lot B
Lew=l 2: WWH 500a058005af77hE, ID 1, Serial Number ' SHFHO1516001218°, Product
'De224I0ME ', Ray *0191", Blot B
Level 3: WWN SD0DaCGS800772=23bf, ID 2, Serzal Numbs=r " SHJHD1ES3000118", Product
'DE424I0ME ' Raw '01591', 8leot A
Leval 4: wwn S00a098005b053kE, D 1, Serial Mumber " SAFAD1S16001218", Froduect
'"DREZETIOME ', By "0I51", Slot A
Level S5: WwWR SD0a093005f0edif, ITD O, Serial Mumber ' SAJEDOIS2T000148°, Product
"DR4Z24TIOMAE "o Rey "HIT2", flok A

Referring to the exhibit, which statement is correct?

A. In a FAS2750 system, the internal shelf is only seen on one path, and the external shelves are seen on two paths.
B. The cables are cabled Incorrectly on the SAS stack.

C. This situation is normal for a FA57750 single-node system.

D. Active IQ Is not aware of the shelf configuration for a single-node system.

Correct Answer: C

QUESTION 5

You have a new VMware vSphere cluster with ESXI 7.0U2 hosts. The hosts are connected to a 4-node AFF A400
NetApp ONTAP9.8 cluster with FC LUNSs. You have a requirement to identify and follow 1/Os from each VM on the
shared FC LUN-backed datastores for troubleshooting purposes.

In this scenario, which VMware feature Is supported by ONTAP software to accomplish this task?

A. Network 1/0 Control (NIOC)

B. Virtual machine ID (VMID)

C. Storage 1/0O Control (SIOC)

D. vSphere Cluster Services (VCLS)

Correct Answer: D
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QUESTION 6
Your customer complains about missing volume snapshot copies on a SnapMiIrror destination. While investigating this
case, you notice an executed SnapMirror resync operation in the event logs of the system. In this scenario, what Is the

cause of this problem?

A. Newer Snapshot copies than the common snapshot that was chosen for resync were removed automatically at the
destination.

B. The autodelete option removed Snapshot copies before the resync.
C. Snapshot copies were manually removed from the destination after the resync.
D. NetApp ON TAP System Manager removed these snapshot copies due to a snapshot schedule.

Correct Answer: C

QUESTION 7

When an administrator tries to create a share for an existing volume named voll, the process fails with an error.
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-share—-nams wall -
Error:

command faile=d: The apscifi=d path "/voll"™ dos=s not =xist in the nam==space b=longing to Vass=rver

"aymi®,

slusterl;:> vascver cifs share show

Vaerver Share Fath Pxnpprtie: Comment ACL
awmi adminSs ¥ browsable - =
=vml o5 F oplock= - BUOILTIN\Administrators §
Full Conteol
browsable
changenotlfy
show-previous-veraions
=vml ipct r browssble - =

] mntries= wer= displayed.

oclusterl::> vasrver cifa show

Sarvar Status
Taerver Mame Admin Mame
sTml a7l up DEMO

Domain/Workgsoup Duthenticaticn

Btyle

clusterl::*> voluma show —vaervaer avml —wvolume woll

Vaarver Hame:

Volume Names:

Aggregate Name:

Liat of Aggregates for FlesxGroup Constituenta:
Encryption Type:

Liat of Modes Hosting the Voluma:
Tolume Sige:

Ham= Qrdinsl:

Tolume Data Set ID:

Volume Masstsr Dats S=t ID:

Volume ZState:

Volume Style:

Extendsd Volumes Styla:

FlexCachs Endpoint Type:

Is Cluster-Mods Volums:

Is Constituent Volumea:

Export Bolioy:

TUear ID:

Group ID:

Security Styla:

UNIX Parmissions:

Junction Path:

Junetion Path Scurce:

Junction Actiwe:

Junction Parent

Junction

Junetion Parent

Vaerver Root Volume:

Comment:

Available Size:

Filesystem Size:

Total User-viaible Size:

Usme=d Size:

Teed Parcentags:

Volume Tiering Policy:

Yolume Tiering Minimum Cooling Day=:
Parfarmance Tisr Insctive User Data:
Performance Tier Tnactive User Data Fercent:

Referring to the exhibit, what Is the reason for the error?
A. The volume must have a type of DP.

B. The volume has not beenmounted.
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C. The CIFS service is not authenticating properly with the domain controller.

D. The CIFS service is not in workgroup mode.

Correct Answer: B

QUESTION 8
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A customer is calling you to troubleshoot why users are unable to connect to their CIFS SVM.

Clust=rHi:** storcags di=k show —-broks=n

Griginal Own=r: Hod=03

Checkeum Compatibility: bleck

Drawsr U=sable
Physical
Daak Cutage Heason HA Shelf Bay /s8lst
Chan Pool Type BEM Size Size
1.0.2 failed 3k | 2 = B
FRILFD B3AS 7200 1.62T8B 1.62TE
Clusters: :*> cluater ring ahow
Hods= UnitNam= Epoch DB Epoch OB Tconxs Master Cnline
Nod=03 mgmt 11 11 4875 Hode=D4 sacondary
Node(3 v1ldh ] 11 J5a8 = offiine
Node(03 wifmgr 11 11 4892 Node0O4% secaondary
Nodel3 breoand 11 11 e Hode(4 sacandary
Moda032 cIa 11 11 [ Nodal4 aecondary
Hod=04 mgmt 11 13 5873 Node(4 ma=ter
Model4 vildb i i1 353 = offline
Mod=04% wifmgr 11 11 4352 Nod=04 master
Nodeld bronmid 11 11 [+ Nodald4 master
Node=04 cra 11 11 [ Node0O4% manter
10 entriss wers displaved.
Clusterd: :*> aystem node cun —node NodeD4 —coommand aggr status —c aggr2
Aggregate aggr? (online, raid dp, degraded) (klock checkasuma)
Blax /aggr2/plexl {colin=, normal, actiwe, pooll)
BATD group faggr2/plexl/rgl |(degraded, block checksums)
HAID Disk Device HE SHELF BAY CHMAM Fool Type BPM Used (MB/blks) Bhys
MBS blka)
dpaxrity  FRILED MR 2538586/ -
parity 3c.0.11 3c o 11 3h:B 0 BAR3 720D 253854E/5153943744
2543634/520932310
data 3o.0.12 Ac o 12 3h:B 0 BRAAS 7200 2538546/51589343744
2543034/3205362816
data 3c.0.13 3c o] 13 s=h:B 0 Baks 7200 253854E6/5198543744
2543634/52093628186
data 3c.0.14 3c o 14 &=a:8 0 BaRs T200 2538546/51953942744
2543634/ 520536201k

Referring to the Information shown in the exhibit, what Is the source of the problem?

A. Thevldb database is offline.

B. The aggregate aggr2 has a failed disk.
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C. The databases On Node03 must be Switched from secondary to master.
D. The broken disk in Node03 is the source of the problem.

Correct Answer: C

QUESTION 9

A customer calls you to troubleshoot a network issue. The customer wants to create a packet trace for allclients on the
192.168.9.0/24 subnet.

cll::> network interface show -vesscyer CIFS

Logical Status Network Current Current Ia
Vamre=r Interfacs Admin/Oper Address=/Mask Node Eort Home
CcIpFs
nfsl up/up 10.52.4.202716 £linl aeda-1052
True
imc=il up/up 10.51.3.132/24 cllnl s0a-322
Trus
i=mc=12 up/ up 10.55.7.114/24 cllnl ala-456
Trus
momt up/up 10.92.6.200/18 cllinl =2n-1082
true
nial upSup 192.168.3.9/24 elinl e2a-100

trus
cli::>» natwork route show -veerver CIFEB

Vasrve=r D=atinatico Sate=way M=tric
CIF3
0.0.0.0/0 iG.52.0.1 i0
0.0.0.0/0 10.92. 0.2 20
10.81.50.140/32 152.168.3.252 20
192.166.9.0/24 192.166.3.254 20

5 mntriss wers displayed.

Referring to the exhibit, on which interface do you have to run the packet trace?
A. a0a-322

B. e2a-100

C. e2a-1092

D. a0a-456

Correct Answer: C

QUESTION 10
Your customer Informs you about SnapMirror problems after upgrading NetApp ONTAP software to a newer version.
After investigating the event logs and the SnapMirror history, you see information about delayed updates of the

SnapMirror relationships.

How would your customer prevent such problems in the future?
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A. Quiesce the SnapMirror relationships before upgrading the ONTAP software.

B. Verify that the cabling of the hardware port that Is responsible for SnapMirror transfers Is correct.
C. Modify the schedules of the SnapMirror relationships after upgrading the ONTAP software.

D. Delete the SnapMirror relationships and create them new after upgrading the ONTAP software.

Correct Answer: B
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